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0. 9.
Q. No. _ Question Answer Options
L. afifeR S Migaex &1 ¢ BT A 1°
The least count of vernier bevel protractor is B. 10’
C. 1’
D. 5°
2. g dsadT .............. R S11 STl 3 A. HHT/ Concrete
Marking tables are made up of B. S¢®H / Aluminum
C. 15/ Granite
D. ST H 4 BE T
None of the above
3, iR SIR GRT WYY TR dad, GBF Wd U3H| A. 25.28 i /mm
25f. 3R 28 af iR TuF 8T Wha § §d &var| B. 25.14 B H/mm
21 aftfas &1 ofive ®1de 0.02 o, §1 Ao & C. 25.56 fadil./mm
During measurement using vernier caliper, the main| D. 25.00 fLHl/mm
scale reading is 25mm and the 28" vernier division
coincides with the main scale. The least count of the
vernier is 0.02 mm. The measurement is
4. FufdiEd oo &1 wanT A9 & AXF Usa ¥ 98| A, T8 WRR/ Try square
PRAPH S RUETMS B. ¥PIER / Seriber
The following tool is used for setting the job| C. §aq Wicaex / Bevel protractor
concentric to the machine Spindle D. Hdg Tﬁ!Gr[ Surface gauge
5. M12 ISO Hicsh @ 51 &1 fUd.......... - A. 1.75 B8 /mm
The pitch of M12 ISO metric coarse thread is B. 1.00 4t /mm
C. 1.50 At /mm
D. 0.80 & Ht/mm
6. S ) ISplad gd- & U Sid BT ybsy 2g| A. 39 9H /3 jaw chuck
{rgferiEd usi o1 I §iar g1 B. ®Idie = / Collet chuck
To set the work run eccentrically, the following| C. 4% € /4 jaw chuck
method is used to hold the job D, IR B T8

None of the above
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Q. No. |. Question Answer Options
7. SIESCAIEE EIMEIECE] A.
Side cutting edge angle is depicted in P !
S LT
C.
D‘ E
3. T 5w WY B! e o 55 Ml § F1Hss| A, 190.98 SIR.G TH.ipm
oot frgest wféTr wite 30 Hiex it fiFe § )1 @M | B. 1909.8 SR TH /ipm
& forg fefeq wits grml C. 530.52 3R.YL.EH./rpm
The spindle speed to turn a mild steel rod of| D. 5305.2 3R.ULTH./rpm
diameter SOmm using HSS tool with a cutting speed
of 30 meter per minute is
9, UK FIRUEE DI A. TS Wi / Mild steel
Lathe bed is made of B. 9% <l Cast iron
C. TIEeHaH / Titanium
D, GI?{IFﬂT‘ITf / Aluminum
10, Profafaa & 4 o1 o1 ST T o1 verd Tl 8 A. IURHR DI ST I
Which of the following is not a function of cutting To cool the tool
fluid B. T o) weRr B
To flush away the chips
C. g 3R Iu=d & Hag ¥ geu
&) GTal HRAT

To increase the friction
between the chip & tool face
B I B! S8 AT

To cool the work piece

I

.Wﬂ?%wnﬁé?fﬁqmwﬁﬁﬁmaﬂ

Jua faar sar g1

For hard and tenacious material which type of drill is
used

Sowp

NUSR/ Type N
HUPR/Type H
SUBR /[ Type S
S # A BIE 61

None of the above
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Q. No. Question _ Answer Options
12. 3] alg iR & Q1Y TGl PR & &G Bl G| A. IR/ Reamer
3R 98T T3 FT g forg FoRe I B. €I/ Boring tool
The multipoint cutting tool which is used to enlarge| C. fdawe {e/ Twist drill
and accurately size hole with good surface finish D. SR H T PS Tl
None of the above
13. sialew el & forg, Al warem 9 ugd &a &1 A. 981 ¥/ Major diameter
N ... 99 g1 916t B. Y o/ Minor diameter
For internal threading, the hole diameter to be drilled| C. TRfde IR / Effective
before threading operation is equal to diameter
D. 3Td g/ Average diameter
14. WG IR SMdR® TR e+ & fore frw TR e 9fd| A, dgaa Re1dfa
P IUANT 81 fohar i1 Taber| Compound slide method
The taper turning method which cannot be used for| B. ¢OR i daus
internal taper turning on a lathe Taper turning attachment
C. 30 W e A
Tail stock offset method
D. IRa Y B el
None of the above
15, (TR 3[IUT 1:6 foar T €1 YA Wbl gHIS, B0 A. 1/6
BT RRET ..., BAT B. 1/18
The taper ratio is given as 1:6. The tangent of the! C. 1/12
compound slide swivel angle is given as D. 173
16.  |qeiBA B (c-2) A =
Evaluate (é - —;~) B. %
‘ 2
“4
D. P
17. HIfRARE U H Fufifea v A S o agi gian | A, 97 AW/ Square head
A combination set doesn’t contain which of the| B. $¢/Rule
below part C. Wicaer oy
: Protractor head
D. Eﬁ?f‘flﬁfl Dial gauge
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Q. No.

us
Question

I T@ed

Answer Opftions

18.

Frafafed & 4 219 @ uivica gsa 8|

Which of the following is a positive drive

vaow

B TiC 9¢¢ Ed

Cross flat belt drive

Y gI54 / Rope drive
ql-sec g3/ V-belt drive
<+ §I¥d / Chain drive

19.

TRIE (o) W A-KSS e s B Y fopdy e
T IUANT faa oITer 81

Which operation on a lathe is used for making non
standard holes

SEeN- IS

. T8/ Dritling

&t / Reaming
Clical; Boring
JUIH H I s ol

None of the above

20,

Tl wie g8, dls..... &y gl

In a multi start thread, the lead is equal to

EEREINGREIR:C
Pitch + number of starts
0=/ 91 819 @t e
Pitch / number of starts
O - 91 819 &1 =
Pitch — number of starts
CEPEIFGEEIRE
Pitch x number of starts

21.

sAR o ¥ A9 H ST o ol g

3 wire method is used to measure

Qw e

Y oY / Minor diameter
3] N/ Major diameter
RIS ™

Effective diameter
SR & BIS T8

None of the above

22.

Newton is the unit of

SESR S

31/ Distance
ald / Pressure
91/ Force

Sl / Energy

23.

50 , 70 37X 120 FT TS ATeAT 5
The arithmetic mean of 50, 70 & 120 is

Cnwe

120
240
100
80
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Q. No. Question Answer Options
24, T & Uy @’ SR FO 1 B @ F o A. FADET T & &7 FaT
For a square of side ‘a’ and circle of radius ‘a’ - Area of circle is greater than
area of square
B. T H1ETTTF &9 4 1l 5|
Area of square is greater than
area of circle
C. gﬁ &1 8 3R g9 HT &9 99
|
Area of the square and circle
are equal
D. IWiad H GBS 78]
None of the above
25. YW T &1 3 B ... gl A. 60°
The internal angle formed in a pentagon is B. 72°
C. 45°
D. 120°
26, |uw gu o1 Pisa W et gaiw o7 A 240 A R| AL 1,922 m?
3R B 2.4 Thex 0 I &meher a1 g B, 11.52zm’
The area of the sector of circle that has an arc| C. 2.88mm’
measuring 240 degrees and a radius of 2.4 m D. 3.84nm’
27, |uP WE foret s 9 W 4 981 UG §9 § SR, 4, TEN/Driver _ 10
76° fis B g FreA  fore IR wewma 7 gy {Epriven 70
..... g B- Rewjoriven — 70
The change gear ratio to cut a thread of 7/16” lead C SRR /Driver _ 70
on a lathe with lead screw of 4 threads per inch " fgad/priven ~ 40
D GigaY /Driver _ 70
" {g9d/Driven 80
28. YR 718X FHaR HI P DUl A. FBUTHS / Negative
For heavier depth of cut, the rake angle is B. R/ Zero
C. UPRIHD / Positive
D. SWRIad § ¥ $5 gl / None of ,
the above '
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Q. No. . Question Answer Options
29,  |9fe D ST g § OIR 4 Ve U § SR L BH| 4 oD
1 el T © 3R < TW G §1 20 Wi T by,
Tt A gy 2w e & for offwdie ... B T
If ‘D’ is the bigger diameter, ‘d’ is the smaller ¢, L-Dx!
diameter, ‘L’ is the total length of job and ‘7’ is the - X 1
taper length. The offset for taper turning by tail D. T
stock offset method is given by
30, ProfefEs 3§ 99 9 yR urg 91 87 A. BFIR™T ) Magnesium
Which of the following is the heaviest metal B. 3[BT / Aluminum
C. e/ copper
D. e/ lead
31. U1d P Pled TIT AT AT I Uy T B A, HIE B1eY
I & P ...000e Pga gl Cold hardness
The property of a material to resist sudden load| B. IS g
during metal cutting is termed as Red hardness
C. THIH
Toughness
D.
Brittleness
32. TITISIRT &) UTHTT B A. TS x IR BIE BT &AHA
Stress is defined as Load x area of cross section
B. §tix ¥HY
Force x time
C. ddx @
Force x distance
D. ﬁg/mwmeﬁw
Load / area of cross section
33. fafafad § & o g ST 9mdl gl A. I AT
Which of the following is a non metallic tool High speed steel
material B.
Ceramic
C. Ied Bl Wi
High carbon steel
D,
. Stellite
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Q. No. Question . Answer Options
34. g HazA 7fd 40 Hiex URIFE § 9iR ST BiS] A. 3.14 PFe/minutes
0.5 Ut aui §1 S &1 v el ora! e 400| B. 5.41 fFe/minutes
Hiex ok oI 50 1A @ W @ qof we ¥ fom| C. 1.25 Be/minutes
{Tages Guy e v D. 1.53 fMe/minutes
If the cutting speed is 40 meter per minute and the
-|tool feed is 0.5 mm per revolution. The time
required for one complete cut on a piece of work
400mm long and 50mm diameter is
35. %rmma:%'@%q@fﬁﬁaﬁx@amﬁ%qwﬁg A. 6
| B. 3
Generally hand tap set consists of following number| C. 1
of taps D, 2
36. R X IR ..., % forg Sugaa A. ST Pl UDHE
A steady rest is generally used for Holding the tool
B. W9 ok YA 1 g & T
fo T
Support for turning long &
slender workpeice
¢, Iors o
Eccentric furning
D. SR g% B TR
Clamping of workpeice
37. =i & HaR& U™ A ........... gl & A, TRF @R SUERUl H1 IR
Preventive maintenance of machine involves e
' periodic inspection of machine
and equipment
B. JAGH IS & HTIR Q&1
lubrication as per manufacturer
instructions
c. TR &t afdRim ok 7 g
servicing & overhauling of
machines
D. IWiw g4t
all of the above
38. HIAaR 3 A. BRI BT SR
Follower rest Follows the workpiece
B. QGUIH BT HJHA
Follows the tool
C. ERIq YR YT 3l
Fixed to the lathe bed
D. ¢3¢ W& W 3faa

Fixed to the tail stock
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(). No. Question Answer Options
39, iafer S F Y P AU B SUYEd ANG| A. ATURR SRR
JUEn Vernier caliper
The standard tool used to measure the diameter of an| B. Uld fag efiale RIECALCA
internal recess Five point internal micrometer
C. S s
Dial gauge
D. A forg afiaikes WIghieR
Three point internal micrometer
40. ;e foed &1 g A 9 ... TR ONST SiIT| A SITHORD / Adhesive
g B. af%?TIWelding
Generally tool bits are joined to the tool shank by C. 9Idl 86/ Silver brazing
D. HiesiA/ Soldering
4. | e F R .. B A [Oloa
In drawing, cylindricity is represented as ’ :
B. {©|o1 jaA
c. {]lox|aA
D. |{y| o1
2. %?Waﬂﬁm‘r’aﬂ?wé‘h’%mw A, TR
....... I 32h.
Volume of a cone of base radius ‘r’ and height ‘h’* is | B. m~2
C. nr?h
arih
D. =
X S ko £ s SR Bi g A. SOOI x 3MTTcH
Density is defined as Mass x volume
B. GQOIHM / ARIAT
- Mass / volume
C. SHHH + Sdd
Mass + volume
D. soqd- - fdT
Mass — volume
44, 500 HIZHM .covneeeee. & T8 A. 0.2 i /mm
500 microns is equal to a B. 0.2 4dl/cm
C. 0.5 di/mm
D. 0.5 §/em
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Q. No. Question Answer Options
45, Frafafad el 7 3 e o1 oo 99 I $| A Rfom
feru fasar s %‘F Titanium
Machining of which of the following material| B. SWRIH WieT
requires less cutting force Stainless steel
- : C. fegHiH
Aluminum
D, G9F Tl
Cast iron
46. ﬁaﬂ%@aﬁ@rﬁm%ﬁ%(@ﬁmﬁm A. TR |
fafer o Sugh 8 fasar o war § Mineral oil
Which of the below lubricant cannot be used in{ B. W/ Grease
splash method of lubrication c. sl (Rfew) aa
* Synthetic oil
D. WO 99 (31 de)
Animal oil
47. qHS (37 T forg FHI0L...... B A. 90°
The point angle for a standard drill is B. 118°
C. 108°
D. 125°
48, dtder IR &1 IughT T MK & g FHof & YON0T| A, GHFRR / Parallel
& o TERT BT 3 S v Bid g1 B. UE - 3M&71G/ Co-axial
Bevel gear is used to transmit power between shafls| ¢, U P TR/ At an angle
which are : D. SWFE A F o 980
None of the above
49. e d T eI A ug R A ISR R 2 A. S/ Jarno
Which of the following terms are associated with| B. TR/ Morse
taper C. ¥4 =Y/ Brown & Sharpe
D. TWRIe i/ All of the above
50. L IR o1 Ay 51 A A sikaw
Brass is an alloy of Tin & copper
B. 3fegHH q HIzay

Aluminum & Magnesium

R i
Copper & zinc

ferafie
Tin & Zinc
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Q. No. Question Answer Options
51, Fefaf@d § 3 9e § FR Iuw il g A, HSS
Which of the below is the hardest tool material B. FEES/ Carbide
C. RRIfA® 1 Ceramic
D. §RT/Diamond
52, 9 yarer o § Ty o S feisw du aifeul A. g8 BWRA
Which of the below operation requires higher Thread cutting
spindle speed ' B. S/ Boring
C. 3if#T/ Reaming
D. <fURW Tapping
53. f5e THR B TG BT WIN IEA P 7 [ SIT| A. 5 G0/ Centre lathe
gl ' B. 9@/ Bench lathe
Which type of lathe is used for production work C. 3UID B8 Wil / Tool room
lathe
D. 0% d GIT WaRT/ Capstan
and turret lathe
54. PraffEd § § S99 TEdeRd FRIaeiacy) § A 2597
Which of the below is a bilateral tolerance +0.1
B. 25+02
+0.1
C. 25-02
+0.0
D. 25+02
55, |50%007 O TRIANEIEEE) oo 3 A. 0.02
+0.01 B. 0.04
Tolerance of 50-0.02 is C. 0.01
D, 0.03
56. 6 % BT H fre Ybsu Bl A. 21600
How many seconds are there in an angle of 6° B. 1800
C. 18000
| D, 2160
57. 100 7. o9 @ B9 & Il eFT A T @) A 20 AHl/mm
i frat St wvg §, =il o faal. =) B. 10 A Hl/mm
@1 o fopa S b 1 _ C. 5 f{f/mm
In eccentric turning of a rod of 100 mm diameter,| D. 15 A4l /mm

what is the maximum possible eccentricity at which
a diameter of 80 mm can be turned
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Q.No. | Question Answer Options
58. U wg o 98 W 240 LA &7 R0 § 9 A, 60 ALHL/mm
I by oI B JHIA F Iohll 5 B. 120 il /mm
A lathe having a swing over bed of 240mm can| C. 240 FLHl/ mm
accommodate a component of maximum diameter| D. 480 r.dl/mm
equal to
59, TP RIS TR e 561 U= $ d9IG o9r $) 98] A. BRI/ Facing
S B. YUR T/ Taper turning
An operation on lathe where the diameter is| C. fHT/Reaming
increased after operation is D. @A/ Knurling
60. 3% g e ... & GRT I Y STl A. T/ Turning
High surface finish is obtained by B. fofeiT/ Milling
C. ﬂlg!é‘l/(}rinding
D. WfUT/ Lapping
b a%/Rough work
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